ELECTRICAL CIRCUITS 1 - CLASS NO. 02 (14.10.2024)
WYE-DELTA TRANSFORMATION
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PROBLEM #1
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Calelate e equivalent vesistane 0f the citcuit. Ra=Rq=Ra= Q4= Rs=R




OHM’S LAW

I R x for given tesistance , the cuvent is ditectly pwportional To voltage
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‘ KCL - KIRCHHOFF’S CURRENT LAW

s 11 x e algebraic sum of the cudtents in a node IS zero
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Iy Iy % i0 $he cutent diechion is infy the node, we Gssign & positive Sign

1o dhs cuttent 10 a0 algebroic sum
% 10 the cuteit ditection is anay fom the node, ne assign a negatiie Sign
1o s cwieat in 0 algebroic Sum
y tho sum 0f curents entering @ node €quals e Sum 0f the cuttents leqving the node
Ty+Tg+Ts= Jat Iy

¥ the algebraic Sum OF the cuttents enfering @ node is zet0 af every vnshgat

KVL - KIRCHHOFF’S VOLTAGE LAW

g +he algebraic Sum of all the voliages Qrouad a loop is 0 (zem)
V- Ry Ty~ RaJa- Raly+ VotV IyRy = 0

%0 any cOmplete electrical citcuits, the algebrgic sun 0 applied
voltages must equal +he algebraic sum of voltage  digps




PROBLEM #2

Calculate Hhe voltage dwops and curtents in the branches of the civeuit shown
o the Pigue. E<43V, Rz 4k, Rg=5 K, R3= 40k,
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PROBLEM #3

The voltage 'digp octgss Re is 30V. Caleulate the voltage E, +he catent Hrough
a volfege souce and the equivalent Yesistance of the circuit
e 24, Rartd, Ro 4, Ka-250, fs- 24, 523,
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PROBLEM #4

Calwiale 4he volinge Uy for he citcait shoun in Piguie, . Ur=400V, Raz 0N, Re= 304
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PROBLEM #5

Caloulale e cutent la i the cituit piesented in the figuie
E= 490V, Ra=10R, Ra= 4500, R3=600, Ri= 40
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